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FIRST PART UHH W7

CHILD DEVELOPMENT AND - W Ty v foren ooy
PEDAGOGY

1.  Whois the best motivator at school ? 1. foumem s & .

(A) The class teacher (A) =har fir

(B) The head master (B) WuH sremfes
(C)  The class fellows (C) W

(D) The subject teacher (D) fawe forerst

2. The most important factor influencing 2, =i oI ) wnfam w0 wIren 3

performance of the children related to T e TqH FRF 7 .
school is :

(A) Development curriculum (A)  UIeTsFa =1 g

(B) Increase in the salary of the teachers (B) ol =t 3¢ H gfg
(C) Continuous evaluation (C)  Haa Jerior

(D)  Audio-Visyal Aids ‘ (D) 3¥3-9=7 ardh

3. A teacher must know the individual 3. & fiaw ¥ fomy fEenfefi & HAfoea et

difference of student - T I 39T & .
(A) for improvement in Education (A) Toren % gur & oy
(B) for group teaching (B) wmfess foremr i fory
T ke reality of the student (©  Teenfial & amefasar % wre &
fer
(D) to build student as per present (D) Terenfof=i &Y Areafirs HATTITFHT &
requirement FIEY T TH

SPACE FOR ROUGH WORK / T wE F o s
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Which one of the f
(or not properly ass
(A) Frobel - Play v
(B) Maria Montess

(D) Gandhiji - Soi

A child has his men

owing pairs is odd
riated) ?

. §
ri - Divergent
thinking

(C) Keller - Co—o;Tative learning

d hands

al age 15 years and

chronological age 1P| years, what will be

his 1.Q. ?
(A) 105
(B) 125
(© 80
(D) 150

Evaluationisa cont‘muous process, which

involves :
(A)
(B) Curriculum
(C) Teaching objs
(D) All of the aboy

Learner

o

tives

Development of 1

oral values among

students is very imjportant. What would

you do to develop
(A)

Encourage
works

e same ?

oral value related

(B) Organize Le
(©)

values
(D)

ures

Display stogfies based on moral

Present yourdelf as a role model

4,

fr § @ form Sieh o Ot g ey 7T € 2

(A) HoT - Ga-Ed H
(B) ftan wiewd - e W

(C) R - Herd® e
(D) TS - wgfua &

T el H AATEE o 15 99 § i
mﬁﬁaawguaﬁ%mmmwz

(A) 105
(B) 125
(C) 80
(D). 150

g:

(A) HrE e
(B) TISTHHA
() fagm & €A
(D) Soe gt

el # o gl w1 fowra el
S @19 3 faemra o fod = e 9w ?

(a) Afew qoar ¥ Fefud T g
ERIECRE]

(B) SATEAT 1 A

(C) feren edi W et e oh eE

(D) T i 3T & &Y H FEgd H

Set - A
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8. One of the following statement jg Corredt, .8,  FmaH 8 Wi wes 1 =4 Fifong

identify jt :

(A) A scholar in his/hey subject need (A) = fagm 9 forey om a9y 3t
Not prepare and go to the class FE T S HITRTFH 76 &

(B) Preparation for the clagg is not (B) 3myeh ST F ford Tl
nNeeded for well €xperienced ¢ fF 3 FETH ST § e o Eadl
teachers

(©) Irrespective of experience or ©) ey Haq awmﬁmwﬁm
scholarship, , teacher needs o 4 fomr, HAATTE #1 & G
Prepare and enter the class every FE H §F 74 T = ST
time gl

(D) A skilled teacher can manage (D) % Fvier sy o Samt % e
classes even without Preparation ' F e Fe &)

9.  The term ‘inclusive-education’ refersto: g TEEARE faren i & .

(A)  Education of Children belong to (A)  sTrfem sfyy Ao Ta Sy %
Scheduled Caste ang Scheduled S S fara
Tribes

(B) Education of children witp (B) 319 we gy =t 1w ey fieg
disabilities along with normaj ones

(©)  Education in multigrade setting (©) wgHfe fommg [ foreqr

(D) Education of children from (D)  sreqHEs a=if T foren
minority groups

10.  “Learning disabjeg- children are mostly :  10. “aifipy forsherin’ sy difime e

(A) Aggressive (A) IFmE

(B) Organised (B) wnfag

(C) Consistent (©) Hmm

(D)  Underachievers (D) %=1 Symfsy ary

s SPACE FOR ROUGH WORK | v o % forit s
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11. For efficient learnig the learning task  11.
should be :

(A)
(B)
©)

(D)

development of or

12. The development lf body should be of  12.
strengths. Howe

Rewarding
Interesting

Adjusted to| fhe learner level of

maturity

Lower than |the learners level of
maturity

, sense organs and
if possible it should

be the independent flevelopment of child’s

internal compete
teach the child ho

This was said by -

(A)
(B)
©
(D)

13. Negative characte

(A)
(B)

bs. It’s teacher role to
' to live life.

Rousseau

Mahatma G]:dhi
RavindraNath Tagore

Frobel

Tendency to be competitive

Risk taking fendency

istic of gifted child is : 13.

et erfrmm ¥q erfomm-wE w1 @
=Mied -

(A) TR

(B) et

(C) stferoral S gfEea TR % STIET

(D) @ifereerst @1 SftTEeR WA

o =1 faere, S o, shedl qen ufeEi
1 faaTa @1 e =fed, SRl a% 6 €
STeT 1 At sael &1 W= fasmd
T AIEd | e Sl S HiEr e o
w1 T@l 8

I HEE €

(A) ==

(B) rRTe el
(C) V=g TR
(D) R

gfer TR Serhi T AeRTere e ¥
(A) wiaeet v i wafd
(B) ShfEm 2 =1 wafa

(C) Achievement oriented (C) Suelfes 9@
(D) Sometimeg jeagerness and do not (D) Fofi-Fft arefiear @ = fwa 7
pay class alention EXC|
P ACE FOR ROUGH WORK / T &tdl & o o
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14,

15.

16.

17.

The measure of learning difficulties and
deficiencies are determined by :

(A) Standardized tegt
(B) Intelligence test
(C) Diagnostic test
(D) Objective test

Which among the following is not 4 type
of multiple intelligence ?

(A) Linguistic

(B) Spatial

(C) Interpersona]
(D) Analysis

Children whoge mental age is lower than
chronological age are called :

(A) Gifted

(B) Normal

(©) Learning disableq
(D) Retarded children

Which one of the following is most
appropriate to develop higher order
cognitive skills ?

(A)  Lecture - Demonstration
(B) Role play

(€) Discussion session

(D) Inquiry learning

16.

17,

2

| 3R i % ey

8§

(D) @ sfipryg

Q"a;ri%lmmff
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18.

19,

20.

If a teacher fo
out of the class,

d children playing mud
o he should :

(A) Convince{the children and complete

his objectiye of lesson plan.

(B) Make a
memorable time,

new objectives and

(C) Let the dlifildren play as per their
interest.

(D) Teach disgipline among children.

Archimedes fojund the solution of his
problem whenfhe was in his bath tub.
This will come under which step of

vity ?

process of cre
(A) Preparatipn
(B) Incubati
(C) Mluminatjon

(D) Verificatipn

“The rewardg jplay a significant role in
learning” - is| fhe main characteristic of
which of the

learning ?

ollowing approaches to

(A) Behavioyristic
(B) Cognitiyp
(C) Humanigtic

(D) Scientifj¢

18.

19,

20,

a7 foreres o= 1 e § e g H Ser
WHT%.T'?F:

(A) W= H GEHAHL T TSI F
SRyl W G R

(B) T U SRYAl % W T Y& I AR
- |

(C) =i i ek ¥ F STTER G < |

(D) == =i argeme faard |

TS A ST9AT I 1 B 96 915 Si™
5% 3TN TA-2a § o, T8 Yokl bl
i ¥ frg dram % st omar § 2

(A) i
(B) TEaA
(C) wErmH

(D) HEMEHd

“qrerR # st § weerg sffe 17
Iz T fadian fobe SAfrm AT 62

(A) SRR
(B) HIAFRHS
(C) HHEETRl
(D) St

Set- A
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21,

22,

23,

24,

Children learn New words for specific
Objects mostly by

(A) Imitation
(B) C’onditioning Process
(©) Insight

(D)  Trial and error

In objective type tests students -
(A) Study the selected subject matter

(B) Study thoroughly the content
matter

(C)  Feel less fatigue

(D)  Influence of hand writing and
language

Area of physica] development s -
(A) Nervous system

(B)  Growth of muscles

(C©)  Endocrine glands

(D)  All above

The thinking Process involved in
producing an idea or concept that is new
original and usefy] Is termed as -

(A) Creativity
(B) Innovation
(C) Intelligence
(D)  Synectics

21.

22,

23,

24,

I
!

?ﬁaaﬁmﬁw&mﬁﬁmﬁm?&
t{zfﬁfi-vﬁ,—aihmya %ﬁnwf%aér,ara

(D) fevsdeg

SPACE FOR ROUGH WORK / % &t % foriy Iy
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25. Characteristics dffschool based Evaluation 25, el anenfia qeaie st fedan & :
is:
(A) Setting satife task for all at the same (A) @ wmE H it & ol v @ el
time. T HHTES |
(B) Teachers gt little or no feedback. (B) foers % ford whafsran <hm =1 =i
(C) Teachin and learning (C) Taaora diEd § guR & il
improvemgnt is less. )
(D) All the abdve. (D) SdE |t
26. “Children cdnstruct their own 26, ‘'HIEF 379 FEERN % e fa:fFE g
understanding [through interaction with st T 1 wEe Pl e o ¥ e
their environhent,” who gave the e faar .
statement ?
(A) Skinner (A) f&R
(B) Pavlov (B) HrerRAd
(C) Piaget () fr=
(D) Burt (D) &2
27. The result of leggning is : 27. aiferm &1 9fom ®
(A) Storing ngw knowledge in mind (A) Tfess d 76 99 1 q=
(B) Acquiring more information (B) siferh g T HTA
(C) Utility to jise old experiences () g TS T IHNT A ST
(D) Modificatjon and Development (D) ®urY o famm
SPACE FOR ROUGH WORK / T% &1 & ford 7
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28.  Who said - 28. e 7y .

The differences among children may " 31 el fafimrmms & T& R &5y
best be accounteq for by variations i, W, gy, T, Yfere et &I
motivation, intelligence Maturation and * fafumasii zr ST T ST T
environmenta] stimulation
(A)  Morse ang Wingo (A) = ug iy
(B)  Garrison and otherg (B) Iiw o ey
(©) Crow ang Crow ©) wrug
(D) Skinner (D) fim

29.  The best Way to motivate a chilq tolearn 29, UF ST H Jifepmy 29 afydfg FH F

(A)  To appeal to his/her sense of pride (A) 331% T B ST YT 5y
and self respect ST

(B)  To rechannel the motives he/ghe (B) F v ¥ @ SURE S @ e
already hasg fewm 2y

(©) To threaten him/her with fajjyre (© 39 srEwery ayoe TS F BRI =T
and punishment

(D) To tempt him/hey with praise (D) 38 yvim Flgry YT

30. One of the most important ways of 30. ﬁ@ﬁfﬂ’fﬁm qmm!hmm%tﬁwaﬂ

fostering problem solving on the part of HEEof ey 2 .

students js :

(A) To stimulate the formation of (A) ﬁ"ﬁ?ﬁﬁﬁ“ﬁ'ﬁﬁm?ﬁ@ﬁaml
Critical attitude

(B) To emphasize problems that are (B) =9 T g e T S 5% fordy
real to them arEIfa &)

©) To Provide them with formal (©) ﬁ%m ﬁaFﬁEETFﬁTW'&’HI
reésorﬁng techniques

(D) To refuse to give or to accept put (D) WW%WWW@W
answers FET

SPACE FOR ROUGH woRrk / T w1 % forg W
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IFGIE REIR 35, ‘e s w1 EE A e R ?
fafdt (A) et
31. wferor FEd € () G
(A) o s fardeor @ R
(B) HwEAIHE L) (D) =S
(C) HermEarEs Eal
(D) Fordr & f b 36, IUE el Tl S § ?
32. T § PR A ‘SipEr T HEER % s Mgt
S B (B) W= ¥ meA H
(A) SRS (©) = F TR
(B) TR W l D) wE
(©) qsmamﬂ 1
(D) Efern = |
37. wm-u1 swi-fam o1 faeA 82
33. o A for a7 f ae S ¥ 98 wed € (A) (D
(A) sifudaned ® )
(B) fadand © (?
©) Hed
(Dy =i o,
34, Froars gdaw B wEm frefafaa e e 38 ‘ aTFTeHT Wi | WA © 2
ﬁwg?ﬂﬂ 7 (A) T
A) T® |
(A) ‘ SED ®
(B) 39 STl ] S ST
(©) s T e @ () =
(D) 3 ST el &2 (D) HHERA
SPACE FOR ROUGH WORK / Tk & & ferdt w7
Set - A 12 0172/ EF-ST/ELG-E




39,

40.

41.

42,

(C)  3mys uy qeTe-Hfeq firey
(D) YA 3191 3 figeyy

‘W'Wﬁmﬁmmw%?
(A) g
(B) =

(©) sy
(D) i

43.

44,

45,

46,

‘ﬁ%’mrwmm:%?

‘#'ﬁwmwﬁﬁ‘rﬁa%?
(A) =
(B) #xm
(©) wmRm
(D) ey

‘aﬁﬁaﬁﬁvﬁm@iw'mw%:

© =fEm ¥ sl gy
(D)  T9en

'W’Waﬁmﬁmm%:
(A) oTm9r, Fqdy

(B) 31, wrht

(C) s, =

(D) g, wey

SPACE FOR ROUGH woRrk / T® &1 & fargy g
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47, ‘mE R e T |fa T wge ™ 5l vapeifea’ e wfu-faede w0 €2
Feifera & 9§ o T 1 TR0 2
(A)
(A) Sonds fshan
(B) FHI
() fewd® fopan
(©) e fr B e
(D) ¥ form & i
48, =T @ - 3 gita e’ gereR & ey 52. w:w%ﬁmﬁm%?
vrgaaz"m%: A)
(A) Tl H ®
(B) g 3T
(€ =N
(C) @irEi 1 ferag S
o) =X
(D) STTEed B |
g9, ‘d wpa T ¥ e A e AR 53, e ferd wr # T T A
HTe i g & ? ' (A) <fam
(A) T YdR (B) TN
(B) Tﬁw (C) -5@&';—;
(C) ST YFIYT D) %
(D) HA I
54, TR SUR T AW S G T @ 2
50. FH-T1 AE G SdHE e 8 2
(A) @ BT ol R
(B) oI ek Il € | o) SN
(C) e = i 2| (C) ¥IH T
(D) T HAHR 9el | (Dy fagarm
I ACE FOR ROUGH WORK / T &rdl & feidl e
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ma»‘nfa,-ss,ss,’s?aai%rqﬁ'a‘sr:

ﬁw%ﬁaawmﬁuammmss,m 57
T FRE

e -
aqaf%—avmarmﬁma’a I ST Ty
mlw%ﬁ%aww%%
ﬁ?mﬁrﬁﬁamﬁmm%imw

WY R} T goq T e 1 vy §
w%aﬁqﬁamﬁm%iww
SaT-rg 3 Qdm—mémmu

56. w@m%'anﬁmmwmﬁﬁaﬁﬁ
L
(A) "aﬁamavﬁ
(B) 1 G

60.

0172/EF-ST/FLG.E

15




Read the following passag
answer the questions di
(Question 61-65 and 66-7(
have been underlined to he
while answering some q

Two years ago, entrep
a resident of Vikas Nagar 1

the incessant chirping

neighbourhood had lessené
realised that something w3
found that the tiny, round

) Certain words
you locate them
gstions.

bneur Rakesh Seth,
Jaipur, noticed that
offf sparrows in his
d considerably. He
amiss , and soon

] brown bird, once

ubiquitous, was fast disappearing.

House sparrows, taxd
as Passer domesticus , are1i

with human habitation.
structures such as eaves

and behind electric metres.
these g_regaﬂ'-ous bird

cherr...cherr...cherr punc
they thrived on the ru

generated. But the last fe

a massive decline in the
birds cannot cope with

architecture, glass walls

scarce water sources, and

and bugs.

Seth
conservationists associa

approache

Birding Fair. They p1

sparrow nest box and feed

their cheerful

ating our days, as

o
o

bbish that humans

decades have seen
{ population, as the
he changing urban
End steel surfaces,

isappearing worms

d a group of
d with the Indian
vided him with a
box, which he fixed

on an outside wall. As hefsaw the birds taking

to the boxes cagerly, in the next two years, Seth
brought many more boxes. The birds came in
dozens, making the boxes their home and
breeding place“ Soon his garden and slowly
the entire neighbourhood had become full of
house sparrows.

The nesting box is not new. It's an idea
that conservationists have been using for some
years now. And it's amazing how just a small
wooden box and feeder can encourage a species
to start again. The Birding Fair activists have
so far supplied about 1,200 sparrow nest boxes
in Jaipur. And a recent citizens review found
that the drive had helped add a significant 8,000
sparrows to the environment. The boxes allow
two sparrows to mate inside undisturbed, and
when the eggs are hatched, the parents can go

-looking for feed while their eggs stay safe from

crows and other predators  Similar efforts
have been undertaken in other cities as well.
The boxes are also good for other birds that nest
in holes, like owls, myna and parakeets.
In fact, Rajasthani folk singer Smita Singh talks
of how she installed a bright purple box for
sparrows but ended up with a Myna instead,
for whom she had to enlarge the opening. Now
she plans to get a second box in brown for the

sparrows.

The house sparrow figures in the Birds of
Conservation Concern Red List. The British
Trust for ornithology is at present running a
house sparrow appeal to raise funds to carry
out research and monitoring of the species to
better understand the pattern of decline.

SPACE FOR ROUGH WORK / T® = & fod -
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Accordmg to noted environmentalist and 61. Which of | the following Statements jg
the soy] behind the Indian Birding Fajy TRUE in fhe context of the passage ?
Programme, Harsh Vardhan, house sparroy,

Numbers have more than halved jn the last (A)  Sethl Hid not @PProach a group of
25 years across India, Ag 8T€en spaces in citjag Consprvationjsts associated with the
give way to concrete constructions ang Indign Birding Fajr,

pbesticides cayge pollution, the Sparrow Rhag

found it hard ¢, survive. (B) The lnest boxes could not be

The smajj Scale industrialist who has distribtited.

de d th b i £

g A HSifiay iy e (©) Hous} Sparrows are intimately
extinction pf house Sparrows coyld lead to a itted with hy habitas
“take over by insects”. Rajasthan’s Chief Wilq i 1 L >0 "an habitation
3 1 i and nést in man-made structureg
life Warden Seconds this ang says, “We must ol
strive to protect r ; such agleaves o walls of bulldmgs

I S s

S e.c OT- esociate species to gete and behind electric meters,
Our own surviva].

The nest boxes are typically distributed (D) The bilgs €an cope with the
during the breeding Season that occyys twice changi urban architecture, glass
year - from June ] August and from February walls dnd stee] surfaces and
to March - April. Each clutch can yield three disapped ing worms ang bugs.
to five chicks,

Importanﬂy for the Programme’s syccegg
In the Pink City, the drive hag drawn the
attention of rea] estate builders, whq are - -62. What is the me]:m'ng of the phrase ‘take
gradually begmning to understang that Over by insecty’ aq mentioned in the
*Parrows and humang need to co-exist, ang are Passage ?
redes;gmng the way homes are built by
1ncorporating more trees and gardens and less (A4)  Insects car Spoil every thing,

lass and chrome,
8 _ (B) Insects will take the birds back.

With this phase Proving a big success in
Jaipur, boty Vardhan and Jugran affirm that jg € I ts can®}|live without sparrow,
Will now be easjor for conservationists o start
the second phase with redesigned nest boxes (D) As sparrow bats insects, and it is ot
and launch a fregp drive at the gt Indian there, insefs wij] be founded
Birding Fair in 2017. everywhere |n the house,

SPACE FOR ROUGH WORK / 7% #1d %, forg g A%
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63. Which of the following is possibly the
most appropriate title fpr the passage ?

(A) Endangered Bird
(B) Sparrow and huhan’s need
(C) One sparrow makes a spring

(D) Sparrow boxes ghd humans

64. Which of the follow)ng statements is

FALSE in context to the passage ?

(A) The last few defades have seen.a
massive increas¢ in the population

of birds.

distributed di
season that oc¢

(B) The nest bo;s are typically

(C) House sparrow
than halved 1
across India.

(D) Real estate byflders are gradually
understand that

beginning o
Sparrows an
co-exist.

ing the breeding
rs twice a year.

umbers have more
the last 25 years

humans need to

65!

66.

67.

We must strive to

(A) carry out research and monitoring
of the species to better understand
the parttern of decline

(B) finish these sparrows

(C) understand that sparrows and
humans need to co-exist

(D) protect our associate species to
ensure our own survival

Choose the word which is most opposite
in meaning to the following word as used
in the passage :

ENLARCE
(A). Entire
(B) Diminish

(C) Accelerate
(D) Accept

Two years ago, entrepreneur Rakesh Seth,
a resident of Vikas nagar in Jaipur,
noticed that the incessant chirping of
sparrows in his neighbourhood has
lessened.

The underlined word ‘resident” in the

above sentence is a :
(A) Noun

(B) Pronoun

(C) Adjective

(D) Adverb

SPfICE FOR ROUGH WORK / T% @1d = ford e
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69,

70,

The aboye Sentence jg -
(A) a simple Sentence
(B) a compound sentence
a complex Sentence

(D) a conditiong] Sentence

‘Seth approached 4
Conservationijss -

been 4Pproached by Seth,

(B) A group of Conservationigts was
approached by Seth,

(©)  Seth Was approacheq by a group of
Conservationjsgg.

D) A group of COnservationists jg

approached by Seth.

Choose the word which s most similar 71,

Direction for erstion Numbers 77 . 75.

Read the follo
Answer the quest

ing Poem carefully ang
s given below 2

ROGs
Frogs sit morg solid

Than anything! sits, [, mid-leap they are
Parachytisys falling

In a free fa1 -
With arms acrd
Heads high,
I'love frogs thadsit
Like Buddha, f}lt fall withoyt
Parachutes, that|die

Like Italiap, tenogs,
Above 2], | love
Pursued in water,

€y die on roads

S their chests and

vl

.

em becayge
they never
they fail

ingles

Panic gq much thg¢
To make stylish tr
With thejr ballet d

Legs.

ncer’s

Choose the word which g most nearly
Opposite in Meaning o .

GREGARIOUS Fall
(A) Companionable (A) ascent
(B) Introvert (B) drop
(C) Special (©) autumn
(D) Attached (D) decrease
SPACE FOR ROUGH wome AL T — s
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72. In the poem frogg have been compared 75.  According to the poet the two comic ways
to : that the frogs die are :
(A) Parachutists (i) On roads with arms across their
chests and heads high
(B) Bal].et dancerp (1]) Like Budd.ha
(C) Buddha (iii) Like the Indian tenors
(D) All of the abdve (iv) Like stylish dancers
(A) (i) and (ii)
(B) (i) and (i)
73. Out of the alterndtive given choose the (©) (i) and (iv)
one which can be $fibstituted for Stylish in (D) () and (i)
the poem :
() “aegnnt 76. Fluency disorders includes :
(B) taste (Choose the most appropriate answer)
(C) wonderful CA) - Voo
(B) Pitch
(D) amazing
(C) Sluttering
(D) Voice, Pitch and Sluttering
74. The poet loves the frogs the most when
s 77. Exchange of ideas between two or more
(A) in water persons is :
(A) Understanding
(B) panic
(B) Telling
(C) sit (C) Communication
(D) fall (D) Listening
lsPACE FOR ROUGH WORK / T & % ford T
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78.  Choose the correct answer for the Strategy g1 A group df words that makeg a complete
You follow to understand ang answer an Sense or fgiyeg Complete Meaning jg
unseen passage called :

(A) Scan the entire text (Choose thp Most appropriate answer)
(B) Focus on the Questions (4) Clausp
B)  Phras
(©)  Find the main idea of the Passage ®) Phrasq
(©)  Pringi
(D) Al the aboye

il Clayse

Presentation which is the

u tell the audience, the
[€sentation ?

Stage where ¥
(A) Use of Multi-Megja i

(B)  Text book reading

(A) Backgrouhg
B troductih
(©)  Remediaj teaching (B)  Introdyc

n
(C) Conclusiog
(D) None of the aboye
(D) Question g SSion
80. Grammay ranslation method of teaching
English language j also called - 83. In oraj COmmunydation what matterg
most js ;
(A) Modern Methog (A) What you say
(B)  Classicaj Method (B)  When you say
(©)  Naturaj Method (©) How You say #
(D) Oral Method (D)  Where You sayljt
SPACE FOR RouGH WORK / 1% #rg & forr s
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84. Which of the followjng is not a rule of 88. An example of a possible phonological
language ? processing disorder is :
A) Phonol ‘
( ) OI'lO Ogy (A) Saying Hsin" fDr "Shin"
(B) Morphology
(C) Semantics (B) Saying “Papa” for father
(D) Formalism (C) Saying “felled” for “fell”
(D) Saying “wanted” for “want”
85. Deductive methgfl is a method of
teaching :
(Choose the most appropriate answer) e
89. The first objective of teaching English is .
(A) Spelling to develop :
(B) Grammar
(Choose the most appropriate answer)
(C) Poetry
(D) Prose (A) Listening skill
(B) Speaking skill
86. Evaluation of speaking consists of :
(C) Reading skill
(A) evaluation off pronunciation
(B) evaluation of intonation (D) Writing skill
(C) evaluation of stress
(D) All the aboy
90. Multi-Media materials includes :
87. Which one is not pn articulator ? (A) Text
(A) Fuee (B) Animation
(B) Tongue
C) Images
(C) Lips 5 ;
(D) Teeth (D) All the above
SPACE FOR ROUGH WORK / % =T o fol 8
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FOURTH pART
(A) MATHEMATICS/SCIENCE

The driver of a car driving @ 34 kmph
Ocates a bus 40 Mmeter ahead of him, After

20 second the bus js gp Meter behingd.
Then the Speed of the bys is

(A) 36 kmph

(B) 20 m/sec,

©) 7 m/sec.

(D) 18 kmph

(4)

91. Waﬁt?ﬁlgﬁ

N

R TR 7R
40 e oy 3
60 TR gy 7y
(A) 36 frat
(B) 20+,
© 724,

(D) 18 fFaft Ve

o= |

P

1 4 l.a“b + IC"'b 25

x(_"

o ) = TGt

x‘i'+xb-!-xC © xa+xb+x‘:
(D) 1 (D) 1

e SPACE FOR ROUGH woRg / VB & &% o T
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93. Three cubes of edpes 6 cm, 8 cm and ~ 93. 1 o for R A 62, A, ol
10 cm respectivgly are melted and 10 A, & = fosema w0 ek foen R
without any loss of fmetal moulded into a U % THEH & T Th T % MR H
single cube. The ddge of the new cube AT T A S T I R
will be :

(A) 25 cm (A) 25 @M.
(B) 12 em (B) 12 F.HI
(C) 20 cm (€) 20 @
(D) None of the|gbove (D) I H | HIE T

94. A student walks kb school at the rate of 94, TFBHA2S for. w0y, /vt Tifa A e e
2.5 kmph and reddhes 6 min. late. Next Eﬁ’[m%ﬁ@q@e{ﬁémﬁﬂﬁﬁ
day he increases I ?speed by 2 kmph and S| st fam we eroe i 2 feRL . /SR
then reaches schqgl 10 min. early. Then w1 & & A1 9 T 10 fire veat qéa Einl
the distance of thd school from his home ¥, @ T IFF A gl 2.
is :

(A) 15 km (A) 15 fa
(B) 3km ®) 3w
(C) 6km () 6w
(D) 12km (D) 12 fw.

95. Banking model gff Education is good for : 95. Torer =h1 SfehT Higw formen foe s 7
(A) Creative Thinking (A) g faam
(B) Understanding of knowledge (B) ¥ % HHE
(C) Gaining of knowledge (C) FH W HH
(D) None of abgve (D) SulE H i T

96. Classroom evalujtion is the best method  96. Ao H e qad st fafu forae
of : fau &?

(A) Testing kng¢wledge (A) A e
(B) Testing cretivity thinking (B) gSHIE HiE T
(C) Testing Receptivity of Lecture by (C) =merH 4 fepnfeldi =t fawa wwRIan
the stude Enity
(D) None of (D) Eenca R I il
CPACE FOR ROUGH WORK / 7% Td & fordl s
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97.

98.

99,

Multiplication by a number js not a :
(A) Mathematica] Procedure

(B) Mathematica) concept

(C) Mathematica function

(D) None of above

If the ratio of two items to he Compared is
very high so that area diagram s also not
Suitable then we €an use the charts to
Compare them g -

(A) Bar diagram or Histogram
(B) Sphere of cube

(€) Frequency polygon

(D) None of the above

In the given figure, I|jm ang PlIn, then the
values of 9 S, p and r are -

(A)  80°, 80°, 100°, 100°
(B)  80°, 100°, 100, 100
(©  80°, 100°, 100¢, gge
(D)  80°, 80°, 800 100

97‘

98.

99,

T T 1 76 8 2

i
%
g,

(A) 80°, 80°, 1009
(B)  80°, 100°, 1008 100°
(©  80° 100°, 100 gg°
(D) 80°, 80°, 8go, 4ge

100°

o

SPACE FOR ROUGH WORK /
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25

mma‘sﬁa&w

Set - A



100. Inthe given figure f QTLPR, LTQR =40°
and ZSPR=30° (l:rm the values of x and

101.

y are :

(A) 40° 70°

(B) 50°, 80°
(C) 35° 85°

(D) None of thepe

In the given figurd, if AB||CD, ZAPQ= 50°
and ZPRD =12/, then the values of x
and y are :

o2 P B,
500
Yy
N
e i e
R D
(A) 5P, TP
(B) 40°, 67°
© 55°,.72

(D) None of these

100. fed 7 fax #, 9f QTLPR, ZTQR=40°
G £SPR=30°,?‘?I I'd?ﬂy%ﬁ'qﬂ% :

P
9
0%y, X
Q 5 R
(A) 40°, 70°
(B) 50° 80°
(C) 35° 85°
(D) T & FE T

101. fod & fa= #, A€ AB, CD ¥ |uHiR %,
J/APQ=50° @ £PRD=127°, @ x d#l y
HHAC

A

£

—

¥

0°
? Y

2 127°

“T Q R D

(A)
(B)
©
(D)

50°, 77°
40°, 67°
55°, 72°
T | FE W

Set
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102. In an eXamination, Ram obtained 209 102. % wiey § 1y STH F 20% atfirss forg
more than Ashok byt 10% less than RERE T I FH 3TF T Fay g1 Ay
Rajesh. If the marks obtained by Ashok SF F W s 1080 ¥, & Ty %
is 1080. Then the Percentage marks BT 9T 3 f?ﬂgﬁ‘\’mmﬁﬂ;{ 1%k 2000
obtained by Rajesh if the full marks s € e,

2000 ;

(A) 729 (A) 72%

(B) 78.33% (B) 78.3344

© 77.77% © 77.77%

(D) None of aboye (D) 39 I TE

103. Four circles of radjys 1 cmare placed in 103, 3R ERARECD] o DRy & et} et
such a way on a plane Paper such that T TE W@ e q U THY oY R
each touches the other. Then the area of & AR 391 gy B2 &5 1 e B :
the space left in between the four circles
is
(A) 024 cm2 (A) 024 9P
(B) 0.04 cm2 (B) 0.04 9§52
(C) 0.84 cmm2 (C) 0.84 ¥
(D) None of the above (D) ST & $ 1 75

104. In a circle with radius 5 m, a chord is 104. UF 99 fSga TT 5.9, %‘, T =19 &g
drawn at the distance 3 ¢m from the q 397, 7 [ =iy ST &, T =y 5
centre, then the length of the chord is : g # .

(A) 4cm (A) 431
(B) 6cm (B) 6 9.4
(©) 8cm (C) 8 F,
(D)  None of the above (D) 3w @ Tlé &
SPACE FOR ROUGH WORK | w wrd = fordr sy ik
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105. The perimeter of a reftangular field is

106.

107.

2.5 kilometer.

What

is the greatest

possible area it may cqntain ?

(A)
(B)
©
(D)

625 m?

If the numerical data

1000 quintle milk the

6250000 hectare
39.0625 hectaré

None of the aboye

is represented by

how many buckets

pictures in which I’Jbucket represents

are needed to rept

milk ?

(A) 6 buckets
1

(B) 65 buckets
1

(©) SE buckets

(D) None of the ab

In city A there lives

sent 6500 quintle

pve

3600 persons out of

which 2250 are ad
are aged persons
angles in the m-C

(A) 180° 80° an

t, 1000 kids and 350
in the corresponding
t are respectively :

100°

(B) 225°, 100°
(C) 100°, 200° a

(D) None of the

35°
60°

ove

105.

106.

107.

fordt TR & W uf 2.5 R gl
Eﬂﬁﬁ%ﬁﬁﬂqﬁﬂamﬁﬂ’éﬂﬂ?

6250000 BT
39,0625 BHM
625 T2

IR T A HE T

(A)
(B)
©
(D)

< dEeE Htmel @ faEl g el faa
e e 1w 1000 fed g frefad
=t &1 | 6500 Fize ga =i @i % T
fopa afeedl g Sl ST 2

(A) . 6 ==

(B) 6-;— Bl

1
€y 53 EIGe]

(D) IR H 8 HE T

feredt vret A T 3600 2T Ta ¥ fE | 2250
9, 1000 5= iR 350 g€ & A m-oa H
ﬁ%mmm;aﬁ:

(A) 180°, 80° ST 100°
(B)
(©)

(D)

225°, 100° 3 35°
100°, 200° 3R 60°
SuiiEd o | HE TR
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108.

109.

110.

If A is the arithmetic mean and G the
geometric mean of tyo unequal positive
real numbers P and q, then which of the
following Is true :

2
G
A) A>G>2
2

® o>y

2

G
—>A>Q
s A

(D)  None of the above

(©)

The cost of 4 apples and 5 mangoes is
¥ 35. The cost of an apple increases by
40% and the cost of a mango decreases
by 40%. If the New cost of 4 apples and
5 mangoes is ¥ 29, then the tota] cost of
one apple and one mango is :

(A) %750

(B) T 10

) %4

(D) 28

A wall is 22.5 meter long, 10 meter high
and .33 meter thick. What will be the
number of bricks used to build thig wall,
if each brick is 22 ecmx 15 cm x 9 cm ?
(A) 22500

(B) 25000

(©) 1000

(D) None of the above

108.

1009,

110.

afs & ERCEI:
pﬁeﬁq::lWWA
& o e

(4)
H > A

> G

(D) 7= A% 91 g7

T3

FHE et F) 4 Tg

3BT ¥ ey

M % qo F 409 53

A1 5 M\ F7 T

@aamwmaﬂ%

T fGomR 22,5 Hhag =, 10 Hey Ee
3MT 33 ay 1=t 21 =9 EEICEE:

22 84 x15 Ak g g
o} ?

(A) 22500
(B) 25000
(©) 1000
(D) 3w & § #§ 7

T # i 2

SPACE FOR ROUGH WORK / 1% %7 & forgy g
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111. In the frequency disigibution table if the 111, Frefafed el | =@ 0 - 10, 10 - 20
data is grouped infthe intervals like Tenife Tl § SRea SR FAH W
0 - 10, 10 - 20 etc., tHen the frequency of 80 - 90 & 1 sgfa erl :
the class 80 - 90 will jbe :
19, 70, 75, 15, 0, 23,($9, 27, 89, 91, 22, 21, 19, 70, 75, 15, 0, 23, 59, 27, 89, 91, 22, 21,
22, 50, 89, 56, 70, 89, 65, 85, 12, 87, 72, 22, 50, 89, 56, 70, 89, 65, 85, 12, 87, 72,
82, 50, 87, 52, 89, 2B, 89, 30, 87, 81, 90, 82, 50, 87, 52, 89, 28, 89, 30, 87, 81, 90,
15, 80. 15, 80.
(A) 11 A 1
(B 13 (B) 13
€ 12 ©) 12
(D) None of thes (D) o & T
112. If the data of the¢|following grouped.  112. afe Fr=fafea afigd arrgfa s 1 fafwsa
Frequency distribufion is to be converted gt dea H sgen 9@ @ =35 i A
to discrete frequehcy distribution the Bt
frequency of the vgri ble 35 will be :
Class Frequency Cul RS
10-20 1 10 - 20 4
20 - 30 10 20 - 30 10
30-40 4 30 - 40 4
40 - 50 3 40 - 50 3
50 - 60 8 50 - 60 8
(A) 4 (A) 4
B 7 (B) 7
€ 14 (C) 14
(D) None of thsi above (D) SWHAH 1S Tl
o ACE FOR ROUGH WORK / & & % fodl T8
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113. In AABC, <A=90°, ADLBC, the which 113, fad ) fis ¥, AABCH 24 =90°, AD1BC,
of the following statement is not trye ? e g BT ot ey TR
A A
b
B D C B =
(A) BDxDC=Ap2 (A) BDXDC=Ap2
(B) AB2-Bp e (B) AB2HBD x pe
(© AC?=pcxpe (© AC?HDpCxpe
(D) AB24 Ac2_ BD? + pc2 (D) AB2}|ac2- BD? 4+ pc2
114. The Present day world IS under the 114. 39 37 RE | FAR F1 wify q wuife ®
influence of Revolution by computers, 14 ST ST i 3 g dm % e famm g
Yoot traces back o, abstract ideals in which SUAGE &2
of the areas of Mathematics ?
(A) Calculys (A) Fegery
(B)  Abstract Algebra (B). 3957 g
(©) Boolean Algebra (©) ety fifrrforg
(D) None of the above (D) S5 A g
115. A sum of money becomes 4 timesatsimple 775 UF o7 0fer wregy ST 2 F 10 a3
interest in 10 years, then the rate of AT B S ?ﬁ’ﬂ?ﬁ!ﬂﬁi‘?%:
interest js -
(A) 10% (A) 10%
(B) 20% (B) 20%
© 30% (€©) 30%
(D) 40% (D) 40%
= SPACE FOR ROUGH woRk / T W % o el g
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116. If

. For which of the f

2% +3¥ =17;
2x+2 3y+1=5,
then the values of x andl y are :
(A)
(B)
(©)
(D)

x=2,y=3
x=-2,y=3
x=3, y=2
x==3,y=2

. If the pth term ©
progression (AP.)is

an arithmetic

,and the q'" term is
that series is equal

p, then the m™ term
to:
(A)
(B)
(C©) ptq—-m
(D) None of the ahgve

p+q+m
p—q+tm

_ The scale of the mag is 20 km for 1 em.
What area of thg
represented on the
60,000 km? ?

(A) 150 cm?
(B) 100 cm?
(C) 400 cm? ;
(D) None of the a

country will be
fmap whose area is

hOoVe

hilowing concept the
fusion of Arithmefjc and Geometry was
necessary ?

116.

117.

118.

119.

ofg 2¥+43Y=17;
7_1'+2__3y+1=5'
@y ey A E
(A)
(B)
©)
(D)

x=2, y=3
x=-2,y=3
x=3, y=2
x=—23, y=2

7 ferrelt EHATR A00 pai w g g
g p ¥, A S ot s m &l 9 ¥ :

(A)
(B)
(©
(D)

ptgtm
p—gtm
peespem
Sriaa # @ HE T

ﬁ%ﬁmzﬁlﬁﬂmmﬁ.tﬁ.%ﬁmm;ﬂ.
3| FaEd T W I W H fre T
a3 o fge &Ewa 60,000 fop. .2
¥?
(A)
(B)
(©
@)

150 ¥.H1.2
100 &2
400 ®.71.2
yiraa ® B HE T

Frefefiaa ® | &9 s 3 ferg, sfemmfom
amwﬁ%mﬁamﬁm?

(A) Zero A) I3
(B) Rational Nugnbers (B) HHA et
(C) Trrational Ngmbers (C) ST et
(D) Whole Numpers (D) i wE
JPACE FOR ROUGH WORK / T® = & o e
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120. The sum of n teym of the Series
1 +9+24+46+75+

€qual to :

(A) nn + 1)(5n — 4)
—_____mg——__ﬁ‘_ﬁ

() Do+ 1!)5(311 o)

©)

(D) nn + 1)(7n — 4)

6

121. In which Part of the flo

take place ?
(A) Stamen

(B) Anther wall
(C) Pollen mother ce]]
(D)  Pollen 8rain

122, An electrically heating cojl wag placed in
a calorimeter Containing 360 gm of water

(A) 42.14°C
(B) 32.14°C
(©) 36.14°C
(D) 48°C

to n terms i

nn — 1)(7n + 4)

wer does meiosis

120, Svj

121.

122;

1+9+24+<-45+75+........ n TS T w5y

!J‘rrrq,;;%;

(A) Bhs i

(B) n(n + 1I)j3n -

S

=
i

© n(n — lj(7n -+ 4)
(D) n(n + 1) n — 4
6

gﬂqﬂvﬁmﬂn'?wf@ﬁ%mﬁm%?

(A) =y

(B) waﬁﬁIrﬁ‘
(©) e mey g

(D) e 35

% faga gifig Befy FUeEl # uw
%ﬁﬂmﬁ.ﬁvﬁzcmws&ommﬂ%ﬁ

(A) 42.14°C
(B) 32.14°C
(©) 36.14°C
(D) 48°C

ﬁ%maﬂm@ﬁqa

%Fﬁﬁmq}wyuasﬁ
1 2 ST ¥
b & 8 .

(HEIT)
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123. A circular loop off padius a, area A and
resistance ‘R’ is pladed in a magnetic field
B =B, sinwt with i plane perpendicular

to the field. The vajue of induced current

in the loop will bé

(A) E{E—I? sinwt

(B) Am;" cosot
ABg w

(C) ——i{——- copfot

Joswt

124. P type semicondlictor is :

(A) positively tharged.

(B) made b
alumind

ixing of impurity of
in germanium.

(C) madeb
phosph

mixing of impurity of
15 in silicon.

(D) made by mixing of impurity of
carbon in silicon.

123. @m@ﬁﬂﬂﬁﬁm&m.&w
i R 2, 1 T@ g &5 B =By sinwt
¥ sifrerean fioa &1 9 M@ o B

(A) %O——RA sinwt

A By
wR

coswt

(B)

"ABpw

coswt

(©)

ABow
R

coswt

L) B

124. P YHK I SAHAS
(A) YT STaTe el B

(B) ey & sreqatm i agfe fram
A R

(©) fferts 3 whTERg i efe e
o T B

(D) faferst § FEa w1 agfe e W
EECi S
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125. A short linear object of length b Jjes along

126.

the axis of a concaye mirror of foca] length
f at a distance 4 from the pole of the
mirror. The size of the image js ;

™ ()

(B) [ufffb

ey
@ L

(A) K +K,
2K;K,
e +K,

K; + K,
(©) KK,

(D) KK,

125,

126.

‘b’ eTTE | U B} Ygs
%ﬁnaﬁa&#%

[y

2 KK,
L

K; + K,
(©) KK,

(D) KK,

—

ST Hrerhar
TN 71 g

N  BREY T
aﬁ%m,ﬁm%ﬁga
&R a9 ftfera #} e

'mﬁﬁagwﬁfwmﬁ

T & T

TR e M =9 =

g
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127. Dental formula of humrm is 127. H9% F1 &0 A g:

2123 2123
Ay —— boakac ot
) 2123 (A) 2123
2321 2321
® @ ®
3221 3221
© 3m © 321
D 1223 D 1223
(D) 1223 (D) 1223

128. Plastic is not relatefl to which of the 128. f=fafaa wnfes Frag et T8 €7

following :

(A) Polymer Engindering. (A) e et
(B) Bakelite. (B) SrherEe |

(C) Plastic surgery (C) TenfEe Heill |
(D) None of above (D) SR H HIE T |

129. The process of trangferring files from a 129. Wﬁ@aﬁzﬁwﬁmaﬁq\m%w
Computer on th Internet to user # ZEwL T I A Hod €7

Computer is called

(A) Downloading (A) STETENfEN
(B) Uploading (B) STqenfEn
(&) B3 (C) THAL
(D) JPEG (D) SAZSA.

S?P.CE FOR ROUGH WORK / T% & o e
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130. A particle oscillates along the v-axis

131.

according o €quation y=05

sin ( 10t + gw) Where x is in meter and t

is in second, then velocity of particle at
t=0 second is :

@) 5 m/s
(B) —\/gm/s
2
(©) [ém/s
!

0) gm/s

A a-particle enters in a magnetic field of

({\ A
strength 3:+2}) with velocity

(5x10% 7).
€Xperienced by the a-particle will pe -

The magnetic force

(4) 32x 10-13 }

B) 16x 19133

©) sax 10"}

130. u% E |

131.

¥=-3787

A

a

31 fem

*=0.05 sinf|i0¢ + ;’J TR & 7w

mmm%;aﬁxﬁaﬁmtmﬁ%
$H F0 T ooy t=0 VHvS W 71 77 119

BT :
(A) 5 #eg|dwre

® L ikl s

(©) *g  ISERES
(D) %ﬁafﬁm

T o (37 4 27) e ey T
a?fsrff(5me f| R/ evs % |
TRE R S i ave gy

el

(A) 32x 1071

—

B  1.6x 10-13

Lo 0P

©  64x 19-13

(D) 52x 10-13¢

SPACE FOR ROUGH WORK / T 6 % ford g
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132. Which process does mLt exist in nitrogen
cycle ?

(A) O+ N, _hw | hitric oxide

(B) oxide of nitrogy n—20_, nitric

1%

acid

Rhiz

(C) nitrates ppium . njtrogen

(D) ammonia bageria_, pitrogen

133. A species having 8 ejectrons in the third
shell is very reactiye while the other
species having 8 electfons in the third shell

is very inactive they fare :
(A) Kand Ar
(B) Kand Ca
(C) Caand Ar
(D) CI~ and Ar

134. A ray of light travdlling in the direction
}-({\ £33 A') is ijcident on a plane
S +43 ) is 1 P

mirror. After refldction it travels along

133.

134.

@mﬂaﬁﬁaﬁ{wﬁssﬁaﬁﬂ%
aﬂamsﬂa%mﬁ?@ﬂﬁaﬂﬁm
Wwﬁsﬁa;ﬁ%,mwwg
¥

(A) K@ Ar

(B)  KuariCa

(C) Ca@el Ar

(D) Cl~ @& Ar

wmﬁmﬂr%(’;+ﬁ?)ﬁmﬁ
mﬁgwmﬁmwmﬁ%

q{ﬁﬁ’lﬁ?aﬁ‘%’mﬂl%(?_ﬁﬂ ﬁ?ﬂl

s A
the direction. 51 -5 )] The angle of w3 ST O FHAAE
incidence is :
(A) 30° (A) 30°
(B) 45° (B) 45°
(€ 60° (C) 60°
(D) 75° ) 75°
$PACE FOR ROUGH WORK / T® & & fod e
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136.

Correct ?

sin(r)

gteater than thay of mediym B,
(D) None of these,

136.

39

Eag: ol
fas-4

r¥1 sin(i)

Rz

ﬁ?nsin(r)
KU/

g
w
;
|
£
i
=

sin(r)

Set- A




137. Which of the following dfsolves in water 137, Feiifend # B I e M % v A 94

in guard cells to inducg the opening of T STy Gl & feru e T # 2
stomata ?

(A) Glucose (A) TEIIS

(B) Fructose (B) TR

(C) Ribulose bi-phosphate © ﬁﬁm-aﬁ—ﬂ-ﬂm

(D) Potassium malate (D) drefmEH e

138. Berry - berry disease igjdue to deficiency ~ 138. Ao sy e A Bl €

of :
(A) Vit-D (a) faafiE-D
(B) Vit-By @) farf - B,
(C) Vit-C ) farfm-C
(D) Vit-K ' (py. faarf - K
139. Ozone is : 139. i< :
(A) acyclic mole (A) TR T 3 ¥
(B) an allotrope of pxygen (B) ifeIST qGETF ©
(C) acompound off oxygen (C) SitesT =t s ¥
(D) is as stable as gxygen (D) SifeTST Foraen & e ®

140. If a liquid is heated t‘weightlessness the 140, afg TH 78 1 @l i ¥ # ad fam

heat is transmitted ough : m%ﬁazaﬁmmagﬁam%;

(A) conduction. (A) I |

(B) convection. (B) WawT Al

(C) radiation. (©) fofao F

(D) neither beca e the liquid cannot be (D) Frdt TR ° T, ifE AETa
heated in wqghﬂesmess. frorfa H 2 & 7 @ e S Eehd |

SHACE FOR ROUGH WORK / T® =T & T e
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(A) In terference
(B) Polarization
©) Diffraction
(D) Reflection

142. Which of the following IS not trye about

) Scanners ?

a section of 4 body.
It uses X-rays to make detailed

Scann_ing.
(D) None of above,

Which Teaction is not Oxidation ?
(A) Rusting of Iron

(B) B'ul‘m'ng of CO

(©) zn Teacts with Hey

(D) Extraction of sodium

143,

Which Statement jg Correct ?

(A) The hydrolysis of a neutral 3¢ 8ives
rise to acig and bagse,

(B)  Acig and base reacts to give ney tral

salt always,

Citric acid jg Neutralised by Caustic

soda to give neutra] salt,

144,

(©)

143,

144,

41
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145. Which is correct statemenf ? 145. FF-H1 FE T E?

(A) Oxygen is always a fnolecule. (A) e w19 ¥
(B) Airis always a mixjure. (B) A g R

(C) Any gas is always i:compound. © W& i AT §
(D) Element is always [¢n atom. (D) = T T T 8!

146. Heat is flowing througiya conductor of  146. | ST Qﬁ'ﬁﬁiﬁﬁm x=0@x=1T%
1engthlfromx:0tox==1. If its thermal o7 W ¢ ﬂﬁi%'ﬂmmﬁﬁﬁ
resistance per unit length is uniform, TR RS AT 21, @ Frafafed &
which of the following i raph is correct ? 3 TR A Wl W T

g i T
8 (A)
g X
T i 4
®) \ j (8)
SRS T LS x
T 'E\ T
E——— 5 o —_—X
¥ X T
© | K (D) \
& —X
SPhCE FOR ROUGH WORK / 6 W o o e
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148. A body of mass 0.25 kg is falling v, an
acceleration of 9.2 m/s2 The Valye of
frictiong] force of aj; on the body s -

(8=9.8 m/s2)
(A) 015 Newton
(B)

0.25 Newton

(C 30 Newton

(D) 45N ewton

43

148,

—
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149. Which of the L‘Ht'\\\’i

150.

caused by virus 7
(A) Polio
(B) Aids

(©) Conjunctivitis

(D) Plague

If the ratio of th
electrons to that

7

conductor 18 5

g disease is not

concentration of

hi holes 1n a semi

~ and the ratio of drift

149.

150.

Waﬁmmﬁm%

@Wﬁ,uﬁgﬁaﬁ?w-@m‘faﬁ

21 e ST S

w%ﬁ,wﬁeﬁawﬁﬁ%w

velocity is thidn the ratio of their e e Wﬁff" ;
cutrrents is :

7 7
(A) 3 7 s

7 7
® 3 (B) 3

4 4
© % © 3

4 4
O 7 &1 7

[PACE FOR ROUGH WORK / T T ¥ o sE
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(B) SOCIAL SCIENCE

91. Which of the following Vedic Literatyre

(A) Upanishags

(B) Grihya-Sutras
(@) Sraut-Sutyag
(D) Dharma.gy, tras

92.  From fc:ﬂowing Which is the Important

element of Provincialign, »
(A) One linguistic belt
(B) Religioyg discrepancy

(C) Single £€08raphical ynjt

(D) None of above

93, Din-i—ilahi Consists of elements primarﬂy

from -
(A) Islam and Hinduism

(B)  Islam and Chrisﬁanily

(C)  Islam and Sikkhisyy,
(D) None of above

9%4. Which of the fol]owmg Veda co

©  Yajurved, © agag
(D) Atharvayed, D)  Heyefge
R L p—

SPACE FOR ROuGhy WORK b

0172/EF-ST/ELG-E

N —

45

9%,

52

93.

94,

|
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95. At which of the place of the Indus Valley 95, Toreg = Bl ¥ Frefafea 7 @ 60 ®H
Civilization a dockyar{] connected to the 3 EeTd e @ IO g SevTE LN
Gulf of Cambay has bepn discovered ? T ?
(A) Lothal (A) g
(B) Suktagender (B) ESCSILE
(C) Amri () 3l
(D) Chahundaro (D) ELSl
96. When did Shivaji haf his Chhatrapati ~ 96. forarsht & @aafa @t SwfH &el ¥ i ?
title ?
(A) 1680 AD (A) 1680 T8
(B) 1674 AD (B) 1674 £81
(C) 1665 AD (©) 1665 $HT
(D) 1657 AD (D), 1 1657 2.8
97. In a classroom teaéhing whichigfthe 97. =Wl 3 foregu 3 fere Frfatad H § % Hi
following concept] ill suit discourse Gehed Jq9 (fewrd) fafyl ¥ fau 3fea
method ? Brft?
(A) Community (A) I
(B) Culture (B) Hwhfa
(C) Institution (C) HEm
(D) None of aboy (D) T H I
98. British East India Company was 9g. fufew @ gfed@ gt 1 fmE & sl
liquidated by which law ? g o T Y
(A) Government pf India Act 1857 (A) WRE R apfufa 1857
() Governmentfof India Act 1858 (B) WRd TR srfufem 1858
(C) Governmentfof India Act 1859 (C) wRd FTRT sfufd 1859
(D) None of a re (D) soire T g off e
JBACE FOR ROUGH WORK / T® & ol 9E
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99. Who of he following g the propoundey 99. ‘Yfiempf 3 Hitier Freaferfes 43 9>
of Pushﬁnmrga’ ?
(A) Shankaracharya (A)  Yergrans
(B) Ramanujacharya (B) TATTSIT=m
€ Nimbarkacharya (©) Tt
(D) Vallabhacharya (D) =Ty
100. The founder of Gupta Empire wag 100. T gy Eago ot e 5715
(A) Sri Gupta (A) gt
B) Chands, Gupta (B) =g
(©) Samudra Gupta © wgz T
(D) None of aboye (D) S9mm ¥ EQE b
101. In which of the following ogjcs does  101. Fraferfag o 3 ﬁfﬂgrﬁiﬁ@ﬁm#'m
Asoka use the term ‘Priyadarsp; King of W1 et ey 1 1ReS sifen iy 82
Magadha’ 7
(A)  Rock Edict of Kausamp; (A)  Framst o7 fir
(B)  Maski Rocy Edict (B). “ 7=t Rromerg
(©)  Sarnath Pillar Egjct ©) Wy Ty
(D) Bhabry Rock Edict (D) g ﬁmﬁ'@
102. Which of the following eévent is the 102, ﬁqﬁﬁgﬁ L EQES oii FEA Hhefary ®
background of ghe chronology of Maurya SlomTe-m 55 oYy ¢
dynasty ?
(A)  Death of Mahavira (A)  wRrEfiy 33 79
(B) Death of Buddha (B) mg =3 T
(©) Alexandey’s invasjon ©  em@rryer Ralse: )
(D) Kalinga way (D) ®fen g
SPACE FOR ROUGH wom / T w0 % ol g S
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103. Where did the

104.

105.

106.

(©)

Akbar build his
Ibadatkhana ?

(A) Fatehpur Sik'ri
(8) Delhi
(©
(D)

Agra

Lahore

Which of the follogying Sufi ‘Silsilah’ is
more popular in Ir:r.i:'?

(A) Chishti
(B) Qadiri
Suharawardi

Firdausi

(D)

In which of the
the Sufi ‘Rishi’ ‘S

dliowing part of India
ilah’ exists ?

(A) Bengal
(B)
(€
(D)

Deccan
Kashmir

Punj ab

Who among the|following annulled the

partition of Bery al ?

(A) Lord Har
(B) Lord

ge

(C) Lord Curgon

(D) Lord M ntbatten

105.

43
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©8Y s successfu] in an 107. % ot 'Wﬁ%@ﬁ?%ﬁﬁ?{
Organization ,nq fails  jn other T Heeyr Toe it & U v
Organization. A gocia scientist wil] Joo W iy 3fe 3 a2

for reason of

(A)  Inadequate technology, (A) s g

(B) Lack of Managemen; support (B)  aitry 5 PTTAT rgeing

(@) Organizationa; politics © Ty 5 ISTifer

(D) None of above (D)  39drem 3 FE T

i In social dipe Consequence 194 i & S i TRITT i gy ®?
of Poverty ?
(A) Crime and Juvenile Delinquency (A) 3y g T 3y
(B) Beggary (B) _ Fireiregfiy
(©) Suicide ©) ez
(D)  All of the above (D) SwiF g

' 109. 7y w1t oz ¥ oty qEte
found engrayeq R MOst of the seqls of 43 F-fy T it foay I
Indus Valley Civilization, » €2
(A) Elephant (A) =it
(B)  Tiger (B) ¥
(©) Unicorn (C) Ffymr
(D) Horse (D) sy
110. Which Mugal Emperor i also known g 110. %9 ey " S TG s
Alamgir 7 ST STy # 2
(A)  Akbar (A) ey
(B) Aurangzeb (B) m’ﬁa
(©)  Bahadur shap, I ©) & g g
(D) Humayyy, D) gt
SPACE FoR ROUGH woRg / V% F % forgy Ty
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111.

112.

113.

114.

Which of the fqllowing was 21-Gun
Salute State durirl§ British Raj ?

(A) Hyderabad
(B) Jammu and Kashmir
(C) (A) and (B)|poth

(D) None of abpye

Who was the fir§t President of Indian
ess 1920 ?

Prasad

Trade Union Cof
(A) Dr. Rajend
(B) Lala LajpatfRai
©) ilak
(D) ra Pal

Lokmanya
Bipin Chat

Which of the
composed by K

(A) Adi Gran
(B) Bijak
(C) Padavali
(D)

ollowing work was
ir 7

Sursagar

Which is the
posing difficy

ost prominent factor
y in building a Social

111.

112.

113.

114.

firferm ot & e et 8 9 W01 21 T RO
T a?

(A) TEER

(B) < W FWR

(C) (A) T (B) T

(D) Iiea § wE off

T SR T I 1920 6 JUH AL
HE 9?2

(A) . Tl TEE

(B) el @eIYd U

() < faers

(D) faftm ==

ﬁwfa’r‘aaﬁﬂaﬁq—ﬁmaﬁi’ﬂmﬁma
??

(A) T

(B) WIS

(C) emEEh

(D) W

meﬂmmmmﬁm
foord ¥ wiaug § s @ weE e

Theory to be witdely applicable ? TH T

(A) Imprecisg nature of theoretical (A) L rAITED THeTASN I TE epfd |
concepts| B

(B) Inadequafy of the tools to measure @) fafi saeanal & H % foaq =0
the variggs concepts Al ERInnl

(C) Presencq of many unaccounted (C) 3raferR yATRfeTa wehl i Sufefd
factors

(D) None of|§bove (D) S H g T

SPACE FOR ROUGH WORK / T @ % ot S7e
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(A) Herodotyg
(B)
©) Mitrodogys

(D) Alexandey

117, What is the maj
instituﬁon 7

(A) A Common habitatiop,

(B) Marrjage relaﬁonship
(©) Joint propert,

(D) Emotionaj basis

(D) ‘Hamaqmmm
S

PACE FOR ROuGgy WORK /
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118. Which of the foll
brought concept
sociology ?

(A) Auguste Con
(B)
(C) Ludwig Wi

Immanuel K

(D) None of aboyp

119. What is the

indebtedness ?

(A)

Conventiond

wing philosopher
of rationalism in

main

(B)
©

Illiteracy

Extravagan
activities

nstein

reason of

agricultural practices

expenses in social

(D)

120. All the teachers d

All of the abpve

d a school are on strike.

What will the pritfipal of the school do?

(A) Organize a

onstructive debate on

the strike off teachers.

bup activities involving
unior students in each
some topics of their

To ask the|dtudents to put a dharna

before adnfinistration in favour of

(B) Organize gr
Senior and,
group on
subject.

(©)
teachers.

(D) To inspir¢

Ltudents to collect facts

in supportlof teachers strike.

118.

119.

120.

frefafioa ® 9 form Snifas g aarsrE
A qhare F HHead & T ?

(A) SR R
(B) RIS HA
€) qefam faesrwerE
(D) ST H FE T

FHURTE % W@ HR0 A A E?

(A) it H I TR
(B) e
(C) s sl # fasera

(D) s a4

T 3 T SEAT weae W | e
Y w2

(A) Toeel & Tga@ W FEHIHF a1
ST |
ﬁ'mgqﬂﬁ!ﬁfuﬁam‘:ﬁaﬁﬁmﬁ
mwﬁaﬁmﬁmﬁﬁmmﬁm
oA fer s aen fama @ gt
Gl

mﬂﬁﬁﬁﬁw%waﬁmﬁ
¥ qa B g HL

(B)

©

orenfefai & freres ggarl & aed THiAd
F Bg ¥f@ w1

(D)

$PACE FOR RO
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1
121. Match the foﬂowing: 121. ghferg iR 3
Article Provisions Nﬂiﬁ’; PIEDIE
(@) 14 () Abolition of (@) 14 (1) sregwrmr 4 ST
untouchabﬂity
(b) 15 (i) No discrimination o () 15 M) =¥, T, sy s &%
grounds of Religion, TR T e w57 ey
race, caste efc.
(©) 16 (iii) Equality of Opportunity (©) 16 (i) T By 3 TG i}
in public employment HA
d) 17 () Equality before Jaw (d) 17 (iv) fafy 3 THE oy
@ ® (@ @ @ b (© @
B0 @ G g B0 W @
B @ @ g g O @ dy oo
© @) o @ g © @ @ @ g
& @ @ g O @ o @ g
122. The Majka] fange is a part of Which of 15, T Jof Fretafes % 3 fergamt s &5
the follo'/vmg ?
(A) Vindhyan Range (A) Tore gmi
(B)  Satpura Range (B) gz g
(C) Dandakaranya Upland (©)  TvewHruy S
(D) Baghelkhang Upland (D) =Homge SRy
123. Which of the following lakes of Ingj, 5 123, ypg Fl oty el F -t Eycl
not a lagoon ? T E2
(A)  Vembanag (A) IR
(B)  Pulicat (B) ez
(©)  Loktak (C) wrwes
(D) Chilka (D) fuem
= SPACE FOR ROUGH woRe /TR E & R | g
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124. In General Metho

125.

126.

students in school
tested :

(A)
(B)

(C) Exceptional

relating to subj

(D)

Which of the follo

match correctly ?
Oceanic
Trench
(A) Romanche -
(B)
(©)

Swire -

Sunda A

(D) Challenger -

Match the following :

Knowledge of
Understanding

None of abové

3

of Evaluation of

e following is not

Articles
(2) 368 G
(b) 214 (I]
() 110 (1))
(d) 76 ay

@ ® 9
(A) @ @@ @
(B) () @) @
© @@ O M

(D) (iv) ()

Wing pairs does not

Location

Central Pacific
N.W. Pacific

East Indian
Ocean

North Pacific

Provisions
High Court
Attorney General

Constitutional
Amendment

Money Bill
(d)
(iv)
(i)
(iv)
(i)

124, en ¥ ferenfeiEi ¥ g wefad |
fretfefiaa w1 Heie e fahan S R

(A) fau= 1 3

(B) forra =t WA

(©) faom A deifem fernedf  sfafafore
ikl

(D) S #§ g TE

125. Frefafed i § A - gafe @ €2
TErarT Trarfa
T
(A) [WE - FEE TR IR
(B) TR - S W HEErR
@ ge - R
(D) FOR- 3. T HRIER
126. Gafea FIET
I AT
(a) 368 (i) == EEH
(b) 214 (i) —HEEEER]
(c) 110 (i) wifaenfe deieE
(d) 76 (iv) wA fadas
@ @® (@ @
(A) @ @) @@ @)
(B) (i) G(v) (@ @)
€ (@) @ @ @)
(D) Gv) @) @ @)

Set - A
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127. What ig correct about the dismissal of 127, ’?ﬁ'qi * SUIe TS &
Vice President of Municipal Counei] ? Ty 3 St sy &2
(a) He may be dismisseqd by No (a) FIE gry 9= fore
confidence motion,
(b)  Signature of 1/6 members of (b) E‘ﬁl‘q"ﬁﬁjﬁiﬁﬁ%ﬁq 1/6
council is essentia in the resolution Bk oo e — g
to introduce the No confidence
motion
(©)  Signature of 1/10 members of (©) srfapare gy T 7 & fog
council is essentia] in the resolution 1/1Q Fe=i =7 BHIER Siaygs gi
to introduce the No confidence
motion,
(d) No confidence motion should be (d) % TR 2/3 Sgrm @ siferearg
accepted by the Counci] by 2/3 m1@§ﬁ B wife
majority,
(¢)  No confidence motion should he > B 3/4 g R} arfavarg
accepted by the Council by 3/4 g ?HTEH%E{I
majority.
®  No confidence motion should pe [ T B Fraffem ey 3
Passed by more than haif of the HEH F 510 3k wyfeora
total elected members ang 2/3 F AR 2/3 gew iy
majority of the members present I
and voting,
(B) (@), ©, @
B @) (o), @
©) @, (), @
D) (), ®), (9
128. Normally when does the onset of the 128. T H gy "G (3wt )
South-West Monsoon (rainy season) take
Place in thig state ?
(A)  Between 15t jyne and 9t Jyne H 57 % ey
(B) Between 10t June and 15% June 958 S & ey
(©) Between 16t Jyne and 22nd jun0 22 91 & iy
(D)  Between 23rd June and 30t fype 30 S & mey
SPACE FOR ROUGH WoORK / TH % R g e
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129. In which of the foll¢

Development Indicatogp this state has

shown
performance (according

(A)

(B)
©
D)

130.

What is correct about

above Natipnal average

to 2011 data) ?

Growth rate of Nt State Domestic

Product

Income Index
Educational Indey
Health Index

129. Freifafaa wHa fawm gl o & fred @
o Y Syeter T o ¥ et W@ R
(2011 ¥ 3HiH F IFFER) ?

(A)

(B)
(@)

(D)

5 T TE] 3G W Jlg W

I gAHH
foen gl
ey gaAHh

130. TR UREE ¥ eAw H T WA F

President of Municipal [Council ? fam A @ Fn e ?
(a) He may be recalldd from his office. (a) = 3T g § weEida R S Hehdl
7|

(b) Theremoval proggss can be initiated (b) wesHf wEmE 9Reg % 2/3 e w
with the signatusp of 2/3 members mmﬁmmmm%:
of council

(c) Theremoval progss can be initiated () Te=gf T uftwg & 3/4 FEEl &
with the signatufe of 3/4 members mmﬂmﬁﬁmmm%n
of council

(d) He can be regplled by simple (d ¢== eIt & WU FgHd |
majority of vote weatia e S wehl ¥ |

(¢) He can be recallfd by 2/3 majority () T% TaEmaIsl % 2/3 FEHd Y gt
of voters. o <1 weRal B

() He can be rpmoved by No- () T fEwEs T g T ¥ TR W
confidence motpn. Hehel €1

(A) (@), (). (&) (A) (a), (b). (B

(B) (@) (9. (&) (B) (@) () (@

© (®) (@ 6 (© () @) ®

(D) (@), (). (d) D) (@) © ()

SPACE FOR ROUGH WORK / 1% wE % g e
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(A) Jelep La -

(B)

Niti - Shipkil - Zojila

Zojila - Shipkila - Nt - Jelep La

(©) Jelep La - Shipiip, - Zojila - Niti

(D) Niti - Zojila - Jelep La - Shipkila

132. Which of the follo
folklore of this stat

(A) Panda wani
(B)  Bharthari
(©) Dhola-mary

(D) Ghotul-pata

133. Which of the following are the basic
elements of the cultyre of this state ?

(A) Tribal traditions

wing is the renowned
&2

(B) Agricultura] system

(©) Respect for nature

(D)  All of these

133. Mg 57 g

Wﬁ%ﬁrﬁﬁ#@aﬁﬁﬁqﬁ

132. 59 Wy =t §
B &

(A) vzar
(B) wyd
(©) Zrenr-wrd

(D) - wiger-urg

Taw g
(A) S eTRTy

(B)  Ffy sgewey

©) w5l %1 wdye

(D) SwiEw mit

BALL
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134. How much of the total ghseous mass of

134, WfEd (ghw) Hee # FEEe & Fa 6y

the atmosphere does the troposphere Fera W faFaT S S & 2
contain ?
(A) 60 percent (A) 60 LIGEE
(B) 50 percent (B) 50 wfav@
(C) 90 percent (C) 90 wfewrd
(D) 75 percent (D) 75 W
135. The Constitution of Inflia is Unitary, ~ 135. WiRd %1 HfauH THH €, Fif :
because :
(a) There is decentralisation of powers. (a) il faramenT B
(b) The Governor |pf states are (b) T % TeauE e fere i 21
appointed.
(c) The distribution offpowers is in the (c) Wil o fasTs %= % 9& 771
favour of centre.
(d) Constitution is en and rigid. (@) dfaum fafaa it #3n 2l
(¢) Unequal represerjtption is given to (e) Tl N THEA H STHH yfaffee
the states in Rajyp| Sabha. fean 7 B
(f) Prime Minister cgn be member of (f) v TeEE e A Tl
Rajya Sabha too. il
(A) (a) (@ & (A) (a) (d), (O
® @®), @ () (B) (b), (d). (&)
© () (©) (€ (C) (b), () (e)
(D) (@) ®), O (D) (), (b), (B)
136. Project work given|fo the students  136. Forenfefaii ) feu e e I faewfed
develops in them : €
(A) leadership skills (A) AgE v
(B) creativity (B) Yo &HdI
(C) understanding oT basic concepts (C) T[E WeheaIel EQR:LE]
(D) all of above (D) SR gell
SPACE FOR ROUGH WORK / T @t o ferd sg
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137. Which of the following concept should be
introduced first in 4 classroom teaching
of social science ?

(A) Family
(B) Conununity
©) Poverty

(D) Culture

138. The Constitution of India ijs written,
because :

(@) Itis framed in 4 certain period,

(b)  Itis framed by a certain Constituent
assembly.

(€) Itis framed by an assembly headed
by Dr. B.R. Ambedkar.

(d)  Constitution Provides Fundamenta]
Rights to the Citizens,

(€) It is come into force in a certain
date,

® I establishes 4 democratic
government,

(4) @, (). (9
(B)  (a). (b), ()
©  (®), @), ()
(D) (). (d), ()

138.

SPACE FOR ROUGH WORK / % %1 % forgy Y
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137. mﬁmﬁ;aﬁmﬁm%ﬁmﬁqm
HheTT e e ?
(A) 9fEr
(B) ¥Hem
(©) =i
(D) wepfa
R 1 Ffay I‘F’lﬁﬂﬁaﬁﬁ?:
(a) 4% uw 4R &Y 7 e T 3
(b) I um TR=T WS4 5 gy Ay
TE
(c) qaa‘ia”rm.%ﬁmw&mﬁ
T F9 G| s e
(d) #%m,wfmﬁ%aaﬁwm
HETE |
(e) w‘a’ﬁﬁﬁaﬁﬁrf‘aa%m%mﬂm
?
® z&:wﬁfﬁmmaﬂmm%r
(A) @), (), @
(B) (), (b), (e)
©)  ®), @), (¢)
(@) (o), @), (B
Set- A




139. Which of the following festival of this ~ 139. T8 TFA &l ffefiaa # | HE ARR ﬁh
state is celebrated on the full-moon day T 1 ot S HAE S § ?
of Paush month ?
(A) Hareli (A) =l
(B) Hartalika (B) ®XeIfeTshl
(C) Chherchhera (€ JWU
(D) Halchhat (D) ®se
140. Which of the following igneous rocks 140, frefafiaa s gl A | fored fafers
contain silica in excess of 65 percent ? =t 65 fowa @ arfue B 82
(A) Basalt (A) TR
(B) Granite (B) TTEE
(C) Peridotite (C) UfRESkREe
(D) Gabbro (D) i
141, Which of the following tgions of Indiais ~ 141. 5@ % frefafaa weoi 8 @ HE-w ¥
known as a cold desert f T © ?
(A) Marusthali (A) TEEeE
(B) Tirunelveli regionjof Tamil Nadu (B) dferTg 1 freterel S
(C) Kachchha regior} (C) =3 Yeul
(D) Ladakh (D) =@
142. Which of the followinp is the broadest 142, f=fered 3 § FA-T gad TSl STy
waterfall ? €7
(A) Jog Falls (A) S99
(B) Dudhsagar Falls (B) JHHEIR WA
(C) Shivasamudram Falls (C) TomesH wu
(D) Chitrakoot Falls (D) fa=ke wamE
sPAQE FOR ROUGH WORK / T% T & fod wE
Set - A 0172/ EF-ST/ELG-E




143. Who of the following was the first author

144.

145.

of the grammer of the dialect of this
state ?

(A) Lochan Prasad Pandey
(B) Hiralal Kavy0padhyay
(©) G.A. Grierson

(D) E.W. Menzel

Who of the following litterateyr of this
state interpreted Marxian Philosophy in
his writings ?

(A) Padumlal Punnalal Bakshij
(B) Pt Lochan Prasad Pandey
(©) Gajanan Madhav Muktibodh

(D) Pt Kedarnath Thakur

Where is the fourth sugar mill was
setup ?
(A) Bemetara

(B) Darbha

(©) Pandariya

(D) None of above

143, 30 =7 =7

144,

145.

v
:
3
i

aﬁ_
E ey

ﬁ@ﬁmwf%amﬁ
aﬁﬁmﬁmmﬂaﬁwﬁwaﬁ%?

(A) gt Yfoner et
(B) 1. wiremyam |muay
(©) T Hrerg [ frrivey
(D) 4. %Ry e

= = F Frary T El i 7 2

(A) ey
(B) =X

vefe
(D) 39 ¥ #r Af

©
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Hﬁ&l%@ﬁﬂﬁf@ﬂﬁ@ﬁﬂmaﬂ%?

146. To which of the follow]ng types does the  146.
Narmada delta belong|?
(A) Arcuate (A) USRI
(B) Bird - foot (B) - ST
(C) Estuarine (C) IR @t
(D) Truncated (D) ®fvsd
147. A teacher asks studemts to find out the 147, SIEAYE A BEI | TTA HHEI & A
causes of fall of |Mugal Empire. IO g1 Bl w1 e iR 1 e
The students have tq jundergo a process AT BN 2
of :
(A) Synthesis (A)  HeeAw
(B) Analysis (B) fawerem
(C) Induction (€ W
(D) None of above (D) ST H HE Tl
148. In the context of Judifial Review what is 148, = qAfECHA F ded § wat= FEed
a duty of Supreme Cpurt : %1 e 1 8 ?
(A) To protect the|Supremacy of the (A) EfeH Y Tl Bl T
Constitution
(B) To protect tth Supremacy of the (B) §ug ! Ta=adl i L& HA
Parliament
(C) To protect the Fundamental Rights (C) Tifers Sifuehrll Rl & T
(D) To establish the Supremacy of the (D) ~fae Hellesdl shi Tl HTl
Judiciary
SPAICE FOR ROUGH WORK / T wrd % fordl wme
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149. In a federal system why a Judiciary is
essential ?

(a)
(b)
(<)

(d)
(e)

(f)

(A)
(B)
(©)
(D)

150.

To enterprete the Constitution
To protect the Fundamental Rights

To protect the Supremacy of the
Constitution

To protect Democratic system

To settle disputes between centre
and states

To protect parliamentary system
(@), (b), (d)
@), (). (e)
(b), (d), ()
(b), (c). (£)

Which of the following arrangements of

steel plants from east to west is correct ?

(4)

(B)

(©

(D)

Rourkela - Jamshedpur - Burnpur -
Durgapur

Burnpur - Durgapur - Jamshedpur
- Rourkela

Durgapur - Burnpur - Jamshedpur
- Rourkela

Durgapur - Jamshedpur - Burnpur
- Rourkela

-000-

149, U Gy e

2?2
(a)
(b)

(d)

H iR smevas i
dfavm =l e 3 % fau
o fuwg] & W@ w0 & fo
WU i [Fatea 1 181 %@ % fau

TSIk e $1 & H3 % fau

(€) = R Y F uey faard =1 w0
Excico

() wadE= 1 8w F fom
(A) (a), (b), (
(B) (@), (). (e)
(C) (), (d), (F)
(D) (), (¢), ()

150. TEOG H©ESl #T ¥ ufem frefafad
eI § | Pif-w WE w2
(A) USTHen - - TR - PR
(B) Y - IR - SRR - TSCHEN
(€) TR - gy - SRR - ke
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I fehd T & U

Time for marking ang

o : 2.30 9

-

SET - A

|

freraw afe : 150
Maximum Marks : 150

{

ivers : 2.30 Hours

e
1. 38 yw-qfee A5 9w e
(1) wEmyE |} o e v e we 1-30
@ fEmasm |} &= 31-60
(3) JHEwm ([} st 61-90
@ =gdwm |} (A) e/ faEe 91-150
(B) w134 91-150
(A) wE (B) T & fit u fawa @t v & ¥
2. U % IW, A T OMR IW-¥ie (31w #e) W ifewa Hifrg |
3. frft ime®H a1 Sl 2ee Ue Wiaga Wi w1 gEn afsid §
4. OMR So-9iz (Figz 3ie) = vam w3 g T i sraur 9 %/, a8 98 v Sl =@
3gH Tirg 71 faeed onfE Us W fed werasy 98 T 8 Sl |
Note :
1. This Questions Bpoklet contains Parts :
(1) First Part - Child Development and Pedagogy ~ 1-30
(2) Second Pdft -  Hindi 31-60
"(3) Third Parl - English 61-90
(4) Fourth Pay - (A) Mathematics/Science 91-150
(B) Social Science 91-150
Choose ANY ONE subject from (A) & (B)
2.  Indicate your aJIwers on the OMR Answer-Sheet provided.
3.  Use of any type pf calculator or log table and mobile phone is prohibited.
4.  While using ONI: Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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